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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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nsurance. What is the rationale behind

1. W : i |
hat do you understand by Risk Management? What are (a) Define Coi

the different steps involved in developing a Risk Management
Plan? i
(15)

OR

(a) “Risk evaluation is the most critical step in Risk
Management”. Explain with the help of an example

(b) “Pure risks are always insurable.” Comment
(10+5=15)

SR ST & T W T § 7 ARy Ao A
weY ¥ G R e e A ¥

=rar

(a?) trGhﬁH’H’ W-& W-wmm wﬁ?ﬁ%l”
IS T TEHT ARSAT HT |

(@) u'gg?ﬁﬁdﬁ%fﬂaawmwgmﬁlnw
it | .

Reinsurance is a well thought and well-structured expense
for insurance company”. Explain this in Indian context.
5 (15)
OR

Coinsurance?

(b) Explain the concept of Assignment in insurance.

(10+5=15)
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tion of insurance sector in terms of global
icate

(15)

Explain the situa

insurance market penetration and growth. Does it ind

vast potential for India? Give reasons.
OR

(a) Is automobile insurance compulsory in India? What types

of insurance covers are available for automobiles?

rogation? How is it applied

(b) What is the Principle of Sub
(10+5=15)

in Insurance?
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Define Fire Insurance. Explain the important featu f
- . _ . the 1 T atures o
andard Fire policy and briefly comment on the progre
ess

of Fire Insurance in India.
(15)
OR

What d ’
© you mean by Marine Insurance? Explain

the vari P
g jrlgus types of marine insurance covers available in
‘ (10+5=15)
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ain the Constitution of IRDA. Briefly state the powers,
(15)

jons and duties of IRDA.
OR
e following :

Write short notes on any three of th
(a) Risk Retention and Risk Transfer
(b) Control of Malpractices in India

(c) Principle of Proximate Cause

(d) Loss Assessmen;t. .'and Loss Control (3x5=15)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt all questions.

1. (a) WhaF form of Business Ownership and Expansion
Strategy will you choose for the following. Justify your
answer. (3*2=6)

(i) A footwear manufacturing unit

PO,
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(ii) A Business Consulting firm

(b) Read the case and answer the questions that follow |

A - . |
Wmta 1S a woman entrepreneur and has set up her own |
o L ] - . . |
men’s Wear manufacturing unit in Delhi. The business |

- . g
as expanding due to increased demand but at the same |

It:mc the competition was also increasing. In order to
eep up with the demand, the company directed its

w i :
orkforce to work overtime. In return, the manager

promised to increase the wages of the workers. But
management later refused to increase ‘the wages. This

resul i |
ted in many problems. Due to increased pressure |

of work the efficiency of workers declined. Many quit
the job. Hurriedly new replacements were brought 1'2 to
keep the work going. The new workers were not adept
at the job. The workers were becoming undisciplin:d
and productivity was dipping. The spirit of teamwork
which had characterized the company previously hac;
b.egun to.wane. The organization’s interest was not },:>eing
glveln priority over employees’ interest.

I(.icn'tify the principles of management which are bein
violated in the above case. e - (9?

(a) Anand Foods and Bevarages is a company having multiple

Prod.uct lines. Departmentalizing by product has increased
1ts innovativeness and focus on developing better

3

products. Each of these products have dedicated
marketing, manufacturing, and customer service
employees serving the specific product; yet, the company
is also finding that centralizing some operations and
retaining the functional structure also makes sense and
is more cost effective for roles such as human resources
management and information technology. In light 'of the
above what form of depdrtmentalization would you
suggest Anand Foods and Beverages should follow and

)

how will it benefit the organization.

- (b) Distinguish between a programmed and non programmed

(6)

decisions with help of an example.

3. (a) How is delegation different from decentralization? What

!

1

steps will you as a manager take to make delegation

(6)

more effective?

(b) Clariant Corporation has been a highly successful

organization with a very low employee turnover. They
treat their employees extremely well. So much so that the
average tenure for most senior managers is upward of
twenty-five years. Their core value is to pht people first
and treat them equitably. The process for rewarding the
employees is clear and transparent which makes
employees trust the decisions management has taken.
They offer extensive training, job enrichment, valued
rewards for performance, and plenty of opportunities

for advancement. Their employees evidently know that
' PI.0.
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“ : inforcement
their efforts will be rewarded and like the way . (c) Types of Reinto

management treats them. (d) Stages of conflict

Which process theories of motivation do you think are

(e) Bases of power
at work at Clariant? Discuss. 9)

! -‘i (f) Big 5 Model
4. (a) Explain the process of perception? Examine with suitable r

exan"x'ples from the real world how a sound knowledge

of perception helps a manger in managing people and 3
situations? ¥ 6) |

(b) Abhijit Bhattacharya is the newly appointed CEO of the
Flipmart Company which has been seeing a downtrend
in the business. He has been in this job for about four
months now and after a thorough analysis has identified
major changes that the Ccompany requires to make so |
that the company can become efficient and effective,
However, he has realized that employees are not at all
enthusiastic on the changes he is planning to bring about.

Explain the reasons why employees might be resisting ;
introduction of changes in the organization and how can \
this resistance be overcome by the CEO. 9)

5. Write short notes on any three. i (#*5=15)

(a) Transformational leadership

(b) Types of plans (500)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on rece1pt of
this question paper.

2. Attempt any Five questions.

3. All questions carry equal marks.
Use of simple calculator is allowed.

. (a) Listed below is frequency distribution for returns in
percentage terms for a sample of 100 equity mutual

funds for the year 2016-17.
Returns (%) | Number of

mutual funds

(f)
8

0-5 : 8
5-10 26
10-15 40
15-20 16
20-25 10

" 2




Compare the cut-off point returns for the top 25% and
the bottom 25% of the distribution. What are the average
returns? (6)

(b) In a survey it was found that out of the total number of

mobile phone owners, 35% are below the age group of
25 years and the remaining 65% above. Further, from
another survey it was found that out of total number of
mobile owners below 25 years of age, 40% are Airtel
service subscribers. On the other hand 30:%"of above 25
years mobile owners have an Airtel connection.
Given that a mobile phone owner is an Airtel subscriber
what is the likelihood that he/she is Below 25 years of
age? . (5)

(c) Calculate the Fisher’s Index for the Year 2016 using the
following data (with 2015 as the Base Year):

Commodity | 2015 2015 2016 2016
Price | Expenditure | Price | Expenditure

A 8 200 " | 65 1950

B 20 1400 30 1650

C P 80 20 900

D 10 360 15 300

E 27 2160 10 600

(4

(a) A survey was conducted among college students to

enquire how much they spent on eating out in the last
one month. The following data was obtained :

8367

3
Expenditure (¥) | Number of students
0-50 20
50-100 10
100-150 25
150-200 20
200-250 10
250-500 15

What is the average monthly expenditure? Find the Karl
Pearson’s coefficient of skewness. (6)

(b) After an analysis of incoming faxes the manager of an

(c)

accounting firm determined the probability distribution
of the number of pages (X) per facsimile as follows :

y IE R 2 3 4 5 6 7

p(x) .05 12 [.20 [ .30 [.i5 |.10_| .08

Compute the mean and variance of the number of
pages per fax. Further analysis by the manager revealed
thét the cost of processing each page of a fax is
$.25. Determine the mean and variance of the cost per
fax. (3)

Distinguish ‘between Correlation and Regression

analysis. (4)

BT,
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3. (a) The table given below provides a summary of totalu |

expenditure by the Government of India for Health and
Sanitation from 2010-11 to 2016-17:

| Year 2010-11 | 201112 | 2012-13 | 2013-14 | 2014-15 | 2015-16 | 2016-17
Expenditure | 1772 | 1850 | 249 | 2540 3049 | 3599 | 4388

(in Rs Crore)

Fit an exponential trend (Y = ab*) to the given'data and
estimate the expenditure for the year 2017-18. (6)

(b) Given below are the approximate average returns obtained
from Gold and real estate over the last 5 years:

Year Gold (%) Real Estate
(%)

2012-13 10 8

2013-14 10 4

2014-15 6 5

2015-16 4 5

2016-17 g 3

Which of the two offers the more consistent returns?

()

(¢) A manufacturing company regularly conducts (luality
control checks at specified periods on the products it
manufactures. Historically, the failure rate for LED light
bulbs that the company manufactures is 5%. Suppose a

8367 5

random sample of 10 LED bulbs is selected. Let X
represents number of defective LED light bulbs.

(i) What is the probability that two or fewer of the
~ LED light bulbs are defective? .

(ii) What is the mean and variance of X. (4)

4. (a) The following data relates to scores obtained by nine
Salesmen of a company in an Intelligence test and their
Weekly Sales (in ¥ “000):

Salesman 1_23456789
Test Score 501601501(60{80150180{40{70
Weekly Sales (in % °000) | 30 { 60 | 40 | 50 601307015060

Obtain the two regression equations; Weekly Sales on
Intelligence test score of the Salesman and Intelligence
test score of the Salesman on .Weekly Sales. If the
Intelligence test score of a Salesman is 65, what would
be his expected Weekly Sales? (6)

(b) ABC Trucking Company determined that the distance
travelled per truck per year is normally distributed, with
a mean of 50 thousand miles and a standard deviation
of 12 thousand miles.

(i) What proportion of trucks can be expected to
travel between 34 and 50 thousand miles in a
year?

P.T.0,
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(i) How many miles will be travelled by at least
80% of the trucks? (5)

(¢) Distinguish between Type I and Type II errors.  (4)

5. (a) In 1993, the Financial Accounting Standard Board
(FASB) was considering a proposal to require companies
to report the potential effect of employees’ stock options
on ear:nings per share (EPS). A random sample of 41
high-technology firms revealed that the new proposal

would reduce EPS by an average of 13.8 percent, with !
a standard deviation of 18.9 percent. A random sample -

of 35 producers of consumer goods showed that the
proposal would reduce EPS by 9.1 percent on average,
with a standard deviation of 8.7 percent. On the basis
of these samples, is it reasonable to conclude at 5%
level of significance that the FASB proposal will cause
a greater reduction in EPS for high-technology firms

than for producers of consumer goods? (6)

(b) An economist wanted to find out whether there is any
relationship between the unemployment rate in a country
and its inflation rate. Data from 7 countries for the year

g -

2016 is given below:

Country AI/B|C|D|E |F|G
Unemployment rate (per cent) | 11 9{13{7]13|8]8
Inflation rate (per cent) 4157 7218] 61315

Use Spearman’s Rank Correlation to find the strength
of association between unemployment rate in a country
and its inflation rate. (5)

(c) A.B. Power and Associates calculates and publishes

various statistics concerning car quality. The initial quality
score measures the number of problems per new car
sold. For 2017 model cars, an automobile company KPS
had 1.02 problems per car. Let the random variable X
be equal to the number of problems with a newly
purchased 2017 KPS car.

(i) What assumptions must be made in order for X
to be distributed as a Poisson random variable?
Are these assumptions reasonable?

(ii) Making the assumptions as in (i), if you purchased
a 2017 KPS car, what is the probability that the
new car will have two or fewer problems?

(4)

(a) Prices of shares (in ¥) of a company on the different

days in a month were found to be: 66, 65, 69, 70, 69,
71, 70, 63, 64 and 68. Assuming the prices of shares
follow normal distribution and its standard distribution is
unknown, test at 5 percent level of significance that the
sample average price of the shares in that month is same
as 65. (6)

P Tl
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(c)

8

it |
-

(b) Given that the mean sales of 30 FMCG companies

i

i

the year 2016-17 was T 300 crore and the mean sales
of 70 IT companies was ¥ 2000 crore. The standard
deviation forr FMCG companies was ¥ 50 crores and
for IT companies ¥ 1000 crores. Find the combined mean

and standard deviation for the two groups taken.

together.

()

Given below are two series of Price index of Steel.
Splice them with the base 2014 = 100.

Year Series A Series B
Base 2005 =100 Base 2014 =100

2000 |  141.5

2011 163.7

2012 158.2

2013 156.8

12014 157.1 100

| 2015 102.3

What is the percentage changé in the price of Steel

“4)

between

2010 and 20157
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IV. BINOMIAL COEFFICIENTS
' {n_. 1o n) n n ny | (m) | (n n) |, (n n
SOOI e0]0]a]
3 i
s 1 » § 4
2 2 1
3’ r 3 3 1
4 | 1 4 G 4 1
L | k] ' n o ] !
8.1 1 6 15 20 15 6 1
? £ = 21 a5 a3 i = 1
B k5 @ 28 56 70 56 28 8 ;
9l 1| w | 2 84 | 126 | 126 | 84 | a6 g 1
io 1 10 a5 120 210 | 262 | 210 120 45 10 i
w f 3] o] e ] ]| ssa] aea} be | a0 sl sl
R 1 T L 66 220 | 495 | 792 | 924 | 792 | “aps | 220 88
15 1 18 | 78 | 280 | 718 | 1287 | 1718 | 1718 | 1287 | s | 2s
i4 1 14 91 364 | 1001 ( 2002 | 3003 | 3432 | 3003 | 2002 | 1001
18 L 18 | 105 | 455 | 1385 | 3003 | 5005 | 6435 | edas | soos 3003
18 1 10 120 B60 | 1820 [ 4368 | H008 | 11440 [12870 [11440 | sooe
17 1| 17 | 136 | sea0 | 2080 | 6188 |12376 |19448 |24310 |24310 |10448
18 1 B 153 816 | 3060 | 8568 [18564 |31824 (43758 |48620 (43788
W oF L | 18 | 1w | e | 3e7e {11628 (21132 |s0ses |7ssez |eaa7s |eaare
20 1 20 | 190 | 1340 | 4845 16504 (38760 (77520 125970 [167960 [i84756
V. VALUES OF «™ (For Computing Poisson Probabilities)
v ‘ (o cm < 1)
m 0 L |2 a 4 5 8 7 8 9
- 90 {10000 | 9900 | 0602 | 9704 | 9808 | o513 | o418 9324 | .9231 | 9130
0.1 J0.9048 | 4988 | 8860 | 4781 | .8eo4 | 6807 | .21 | .8ea7 | 8950 | maro
03 108167 | 8106 | 8025 | 7045 | 7866 | 7788 | 7711 | 7698 | 7558 | 7483
04 |oi740s | 733¢ | 7261 | 7188 | 7118 | 7047 | 6977 | 6907 | 6898 | 6771
0:4 106703 | 6838 | .0570 | 6505 | .6440 | 6376 1 6313 | .6250 | .6188 | 6126
05 106085 | 8005 | 5045 | 5686 | 6827 | 5770 | 5712 | 8055 | 5500 | seem
06 |obess | 8434 | sazo | .saze | .sare | .az0 5180 | 117 | .moe6 | .sa16
07 104966 | 4918 | 4868 | 410 | 4771 | 4724 | 4670 | 4630 | 4884 | 4308
0.8 104493 | 4449 | 4404 | 4300 | 4017 | 4274 | A232 | 4190 | <1ee. ] 107
09 104066 | 4025 | 085 | aads | seos | aee7 | amze | .a7e1 788 | a716
i ' C(m= 1,2, 3, ..10) ' '
m | e o 4 5 [ 7 8 9 10
e~ | 3p788 | 4953« | 04070 | 01852 | 00608 | 00279 | 60092 |.000395 |.000123 |.000045

Notet To 'ujb‘lsin vilues. of ™
Bxample, £295 & (¢900)

for other values of m, use the laws of exponents,
€% = (13534) (.7047) = 095374

Py 0
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£ 4 P
i 1, i
z 00 01 02 dy | os 08 | .08 01 o8 | 09,
* i i
0.0 { ovo | 0010 | .woso | o120 | 0160 | ore9 | 0238 | .cave | 0319 | .0ase
04 | 0o08 | oass | wezw | osi7 | oosr | .oses | ocss | oszs | bria | u7sa
‘ 02 | 0793 | 0832 | 0871 | 0910 | .0048 | .098Y.
03 [ 7o | azi7 | 238 | azes | aser | Lides
0.4 | 4854 | .1s1e | 628 | aos4 | a7o0 | 708
@5 | 945 | ,1950 | 1985 | .2019 | .2054 | 2088
06 | 2267 | 2000 | 2624 | 2057 | 2380 | 2422
07 | 2sso | 2ens | wesz | 2em | 2704 | 2738
o8 | 2881 | 2010 | 2000 | 2007 | 2008 | 3023
0.9 | 3159 | 3186 | 0212 | 9208 | .a264. | 5289
10 | ana | adag | 8461 | a4ds | 3508 | s3i
f “1.1 | ;643 | sees | Jose | 9708 | .av2e | 4740
12 | 9849 | .asep | 0888 | 8007 | 925 | 0044
13 | 4032 | a4 | doed | 4082 | 4000 | 4118
14 | 4102 | 4207 | avez | 4206 | azm | azes
18 | asde | 4345 | 4857 | 4070 | 4se2 | Adod
1.6 V152 4463 AT A484 4405 4505
1.7 | ,4554 4564 | 4573 | .4582 | 4591 | .4509
18 | v | aceg | 656 | Jose | a6 | derd
19 | 4713 | A7ig | 4726 | 4702 | 4708 | Lavea
20 | am72 | avif | 4783 | 4788 | 4vo3 | 708
20 | ad2r | amas [ anso | awse | ases | asee
22 | 461 | aBs4 | 4868 | 4871 | 4evs | As7s
2.3 4893 ABYG ! 4808 A8901 A904 | 4{908
24 | 4018 | 4020 | 4022 | 4028 | .aea7 |“Aezé |
2.5 | 4988 | 4p40 | 04 4043 | 4045 | .-4946:
26 | 053 | 4935 | 4986 | .4087 | 4950 | .4880 | ¢
2.7 | 4965 | 4968 | .4967 | 4068 | .4069 | 4670 973 | .
28 | 4974 | 4975 | 4076 | 4077 | 4077 | 4678 | 4979 | 4979 | 4980 | .08
29 | 4981 | 4982 | 4982 | 4983 | 4984 | Agké | 4d8s | 408s | 4988 | 4086
3 30 | 4987 | 987 | 4987 | 4988 | .4986 | 4089 | 4989 | 4989 | .00 | .4000
(500)
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Name of the Paper . Business Ethics and Corporate
Governance (GE)

Name of the Course : W&aﬁon,
S)

Semester 0 |
Duration : 3 Hours ’
Maximum Marks TR

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2.  Attempt six questions in all.

3. Question No. 1 and 8 is compulsory.

1. It is no secret that most businesses have adhered for a long
time to Milton Friedman’s wisdom that business should only
care about making profits for their shareholders. Since the
outbreak of the financial crisis at the end of 2007 - early
2008, this trusted wisdom, however, has been challenged by

P.T.Q:
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many in society. An important question emerged: how can
business aim to make a profit by also being socially
responsible? As a result, the focus within the business world
shifted to addressing the questions of what social function
businesses have and how they can communicate, implement
and manage those functions. One big challenge in this process
is to make clear to the larger audience that the motives of
companies are coloured by responsible and ethical values.
Hence, the management strategy of Corporate Social
Responsibility (CSR) was born. As the international magazine
The Economist noted in 2008, “CSR has arrived”.

In many Western societies, CSR is now a well-accepted
company philosophy, whereas in many emerging markets,

CSR is still underway and its shape and implementation |

processes are not entirely clear yet. Looking at the biggest
market in the world, Country X, several challenges clearly
exist when it comes down to making CSR work. Overall,
CSR as a concept is generally accepted very well in Country
X. The fact that CSR is looked upon positively in itself is
not such a surprise. The country’s history is shaped to a
large extent by Confucian values emphasising the importance
of building harmony and doing good. Despite. Confucius,
adopting CSR as a company philosophy in Country X
nevertheless seems to be more challenging than could be
expected. Particularly the fact that Country X is known as
the factory of the world and a key supplier to feed western
customer markets has not helped when it comes down to

| 8332 3

CSR. The norms and expectations that have emerged as a
result of this focys on manufacturing and export has not
fostered a business attitude that takes into account the
welfare and well-being of their larger society (for example,
the local problems with air and water pollution).

In more recent years, however, the results of this
manufacturing economy have become more visible to citizens
and business strategies and policies are increasingly being
criticised more by society. This increased awareness has
led to the sityation that companies that want to go public
have become more motivated to signal their social and
environmental awareness/responsibilities to customers and
stakeholders, both in Country X and outside of Country X.
Moreover, because CSR is rapidly becoming a globally
shared bysiness value, evidence is also mounting that
companies could achieve commercial success in ways that
create social value for society and its members. This makes
that CSR is not only an ethical imperative anymore, it has
also grown into having economic value. These reasons have
led to a stronger desire from companies to optimise their
CSR implementation and execution. Despite this desire, very
little persuasive examples of companies being able to balance
sustainability, responsibility and profitable business are
known. This is unfortunate because sych examples could
inspire and guide other companies to transform the business
world and market into a more sustainable one.

P.T.0.
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Questions

(i) Bring out the socially responsive strategies and role of '. :
self regulation for the companies to be more socially |

responsible.

(ii) What do you mean by Corporate Social Responsibility? ;

Compare and contrast for Country X as before and after |

adopting Corporate Social Responsibility practices?
C(8+7=15) |

2. In many countries whistle blowing is still considered as bad !
for the organisation. What is Whistle blowing? Highlight the
types of whistle blowing. Suggest measures for strengthening |
the Whistle blowing mechanism. |

spmemasy

(10) ¢

3. Ethical principle of Utilitarianism is the best principle to rely

(10)

when it comes to weighing social cost and benefits.

4. Compare and contrast different committees on Corporate

(10)

Governance in India.

5. What do you undersfand by ethics and why ethical problems
(10)

occur in business?

6. Positions of Board Chairman and the CEO of an organisation
should be kept distinct. Comment. (10)

7. Discuss the role played by internal and external auditors to

(10)

improve the level of Corporate Governance.

i.'.?‘f'w'rite short note on any four:

(a) Ethics in International business

(b) Audit Committee

(c) Affirmative Action and Reverse Discrimination

(d) The Truth about False and Deceptive advertising.

Comment

() Profit Maximization vs Social Responsibility

(f) Product safety and Corporate Liability (5x4=20)

(200)







‘(a)

)

2, _ Answer any two of the folldﬁiﬂg; o

g

-

g, S

What are the advantam and dtsadvantages of Formal :

= commumcanon ?

@

@

words

(a)

,. -commuqlcanon " o R

o cim an automoblfe showroom

-_ Dlscuss the 1mportance of mass commun.lc.anon

AWhat is Kmes:cs 7 What role does it piay- m.ﬁ

%

Read the followmg questmns careﬁ.llly and aﬂswer in 100 iy

@ Wnte a dlaloguc between the Prmc:pal of a college "

and the students union- presndent who is askmg

‘

for funds for the Frcsher s party

; Q

(:Q You have jl.lSt started workmg as ﬁ sa]espers;)ﬁ .

-conversat:on between you and: a customer | 5.'-

Imagmé”- a

®» O

§ig 0y i s 2571
0 "l'n:térﬁ-ew }1 famous ex-student of yoﬁr institution

'foir the college 'fnagazine.

S T

i (if) lnterview the-c;hairpersbn of an NGO which works :

= for gender equahty el

+

Prepare a pubhc speech in about 100 150 words on

. ‘any 'one of' the folllowmg :

¥

" () Social media and the youth of today.

"L

(if)y  The need fo control pollution.. : _ 5
" Read ‘tﬁe','fél'tld\'f\;i'ﬁg passage . and answer the questions
-that follow :

b The folk and trlbal arts of Indla may be very ethnic

to spea_k VO_lumq_s about.‘the cq_untry s rich hentage.

~ The art forms include paintings which. are an integral

BT

.

_and snmple yet they are colourful and wbrant enough .
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'-Wh'eit:-j"injériires“'th'e_- designs normally. used in folk

3

List s.'o"r_;né of the famous folk and tribal art forms

4

; Gwe synonyms for any four of the followin_g 2 3

rural tradmo'nal vast, mam wbrant rich,

: 'f ‘the: followmg

ur owanrds wntc a sumary of the_“
following ﬁéss;&tgé m _ﬁboﬁt‘_SO w.ords _:‘:

Our blg, cmes are mcreasmgly becommg dangerous :

i places to lwe m For the cw1c populatlon has to ‘

faée not only an unheaithy enwronment but also'

all kmds of‘ unhealthy noxses Whereas people

have bg.gun to feel concemed about the fom‘ler, :

*

they eern to;pay vcry httIe attentlon to the latter

"ths ls so be&ausc we can all see thc ﬁlth in our

: _l'aries-, 'and.".by—lanes and fumes of chlmney-smoke:

PO
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- m the sky But norse cannot ‘always be percewed"; e

S .-dangerous for it is of a non—materlai sort So it

.so easﬂy Yet the pollution ar:smg from 1t is subtly -

'n"e_gds, urg_'eht». a‘ttentmn.

i Nmse pollutmn not only Offends the ear bm 3150
-‘*-‘;prgduccs all kmds of mcntal or physmal problems

o Homs are sald to 1ncrease blood pressure and heart

cx6 ”‘-'—'22'3'1

‘%.' "

hebe Rt

AR AN

.- 257)

" (b) Write a letter to your father asking for permission
o ‘drop a semester to do a course in film rﬁaking

' or_ 'photog;_aphy. o i 10

&

,(a) Prepare a repon on the outbreak of ﬁre in one

of the buswst shoppmg malls of your c1ty

Or

1

by As é.mgn"ibér of the NSS, you “panicip‘med' ina

AL camP which helped to .resc':;ue;.pe‘oplé from a flood

i :.affécied”-'areawW.rite'a“re_pqrt' describing your

: ‘-actiQii'ies. Pl : ' 10
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(iii) Invasive species

() Biological Oxygen Demand <o
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A

(1{:'1') Deserts AR

i 'Pyramld of ené

. ek pnght
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State whethe

_ (ii')- erld Ozcne Day is: celebmd on 16th September P

Seed banks are exam

S

o Kyotot. Prdto’col is -m;_imémﬁmial treaty for the
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ﬂud“" mzlis"nuclear'ﬁssi?!.“' o

tu conservation.
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;@i;gster...thﬁt' occurred in 2011

ink India should invest heavily

6756
on the _Iessoﬁs learned from

s

in

ear energy power sector 2 Justify your

Descrlbe hncﬂy the maJor facets of dlsaster managernent

m eanhquake prone regions
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